No.G.16016/9/2023-F.Est/8 **GOVERNMENT OF MIZORAM** FINANCE DEPARTMENT

Aizawl, the 4th March, 2024

NOTIFICATION

In exercise of powers conferred by sub-rule (1) of rule 4 of the Mizoram Lotteries (Regulation) Rules, 2019, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Mizoram hereby frames the following Weekly lottery scheme, in the interest of public service and for generation of additional revenues, through the Director, IF&SL:-

(a) The name of the lottery or lottery scheme

: Rajshree Som Weekly

(b) M.R.P. of each ticket

Rs.10/-

(c) Draw No.

: 1 and onwards

(d) Date of Draw

: 01.04.2024 & onwards : 01.00 PM onwards

(e) Draw Time

(f) Total number of tickets printed in case of

: 10,00,000 (ten lakh)

paper lottery

: Series: 10 - 19 / ABCDEGHJKL

(g) MRP value of the tickets printed

Numbering: 0000 - 9999 : Rs.1,00,00,000/- (one crore)

(h) Face Value of the tickets (MRP Less GST)

: Rs.78,12,500/- (Rupees seventy eight lakh

twelve thousand five hundred).

(i) Periodicity of Draw

: Weekly (Every Monday)

(j) Prize Structure

: As mentioned below:

RANK	NO. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1	1	500,000	5,00,000	On 1 time on 4 digits with series.
Cons.	99	500	49,500	On remaining series of 1st prize winning number.
2	100	9,000	9,00,000	On 1 time on 4 digits without series.
3	1000	1,000	10,00,000	On 10 times on 4 digits without series.
4	1000	400	4,00,000	On 10 times on 4 digits without series.
5	10000	150	15,00,000	On 100 times on 4 digits without series.
TOTAL	12200		43,49,500	5

(k) The amount offered as prize money

: As mentioned above

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.

The prizes are drawn using a Mechanical Draw Machine as per the guidelines stipulated in the Lotteries (Regulation) Rules, 2010, The Mizoram Lotteries (Regulation) Rules, 2019 and amendments made thereunder.

- (m) The place where the draw shall be conducted: Directorate of Institutional Finance & State Lotteries, Aizawl, Mizoram
- (n) Name or names of the distributors or selling agents with their addresses and contact information

Sole Distributor:

M/s Skill Lotto Solutions Pvt. Ltd.

Tuikhuahtlang, Aizawl, Mizoram E-mail: contact@sugaldamani.com Area distributor: M/s Serenity Trades Pvt. Ltd., Mumbai (Maharashtra, Goa, Sikkim & Punjab)

- (o) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes selected rank.
- (p) The Distributor and their Stockist / Sub-stockist / sellers, agents, retailers etc. are authorized to make payment of prizes up to the value of Rs.10,000/- to the prize winners and the Distributor, Sub-distributor, Area Distributors are authorized to reimburse the same on behalf of the Government of Mizoram.
- (q) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, the Lotteries (Regulation) Rules, 2010 and the Mizoram Lotteries (Regulation) Rules, 2019 and as amendments made thereunder.
- (r) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series and a Barcode or QR Code as Security Measure.

Note: Details of unsold tickets, if any, shall be intimated by the Distributor before the draw time by means of electronic media or physically.

The revenues generated from the sale proceeds of the tickets shall be invested for the welfare of health care, education, publication, sanitation and other social sector services etc.

By order etc.

Sd/- LALTHANSANGA Secretary to the Govt. of Mizoram Finance Department

Memo No. 16016/9/2023-F.Est/8 : Dated Aizawl, the 4th March, 2024.

Copy to:

- 1. Secretary to Governor, Mizoram.
- 2. Secretary to Chief Minister, Mizoram
- 3. P.P.S. to Chief Secretary, Govt. of Mizoram
- 4. The Controller, Printing & Stationery with 6 (six) spare copies for publication in the Gazette of Mizoram.
- 5. Director, State Lottery, Govt. of Maharashtra, Mumbai
- 6. Director, Small Savings & Lottery, Govt. of Goa, Panaji
- 7. Director, State Lottery, Govt. of Sikkim, Gangtok
- 8. Director, State Lottery, Govt. of Punjab, Chandigarh
- 9. Director, IFSL, Mizoram
- 10. M/s Skill Lotto Solutions Pvt. Ltd., IF&SL Building, Tuikhuahtlang, Aizawl (Mizoram)

11. Guard File

Deputy Secretary to the Govt. of Mizoram Finance department (E)

No.G.16016/9/2023-F.Est/9 GOVERNMENT OF MIZORAM FINANCE DEPARTMENT

Aizawl, the 4th March, 2024

NOTIFICATION

In exercise of powers conferred by sub-rule (1) of rule 4 of the Mizoram Lotteries (Regulation) Rules, 2019, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Mizoram hereby frames the following Weekly lottery scheme, in the interest of public service and for generation of additional revenues, through the Director, IF&SL:-

(a) The name of the lottery or lottery scheme

Rajshree Mangal Weekly

(b) M.R.P. of each ticket

Rs.10/-

(c) Draw No.

1 and onwards

(d) Date of Draw

: 02.04.2024 & onwards : 01.00 PM onwards

(e) Draw Time

: 10,00,000 (ten lakh)

(f) Total number of tickets printed in case of paper lottery

: Series: 10 - 19 / ABCDEGHJKL

: 5

Numbering: 0000 - 9999

(g) MRP value of the tickets printed

: Rs.1,00,00,000/- (one crore)

(h) Face Value of the tickets (MRP Less GST)

: Rs.78,12,500/- (Rupees seventy eight lakh

twelve thousand five hundred).

(i) Periodicity of Draw

: Weekly (Every Tuesday)

(i) Prize Structure

: As mentioned below:

RANK	NO. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	. DRAW METHOD
1	1	500,000	5,00,000	On 1 time on 4 digits with series.
Cons.	99	500	49,500	On remaining series of 1st prize winning number.
2	100	9,000	9,00,000	On 1 time on 4 digits without series.
3	1000	1,000	10,00,000	On 10 times on 4 digits without series.
4	1000	400	4,00,000	On 10 times on 4 digits without series.
5	10000	150	15,00,000	On 100 times on 4 digits without series.
TOTAL	12200		43,49,500	

(k) The amount offered as prize money

: As mentioned above

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.

The prizes are drawn using a Mechanical Draw Machine as per the guidelines stipulated in the Lotteries (Regulation) Rules, 2010, The Mizoram Lotteries (Regulation) Rules, 2019 and amendments made thereunder.

(m) The place where the draw shall be conducted: Directorate of Institutional Finance & State Lotteries, Aizawl, Mizoram

(n) Name or names of the distributors or selling agents with their addresses and contact information

Sole Distributor:

M/s Skill Lotto Solutions Pvt. Ltd. Tuikhuahtlang, Aizawl, Mizoram

E-mail: contact@sugaldamani.com

M/s Serenity Trades Pvt. Ltd., Mumbai (Maharashtra, Goa, Sikkim

& Punjab)

- (o) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes selected rank.
- (p) The Distributor and their Stockist / Sub-stockist / sellers, agents, retailers etc. are authorized to make payment of prizes up to the value of Rs.10,000/- to the prize winners and the Distributor, Sub-distributor, Area Distributors are authorized to reimburse the same on behalf of the Government of Mizoram.
- (q) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, the Lotteries (Regulation) Rules, 2010 and the Mizoram Lotteries (Regulation) Rules, 2019 and as amendments made thereunder.
- (r) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series and a Barcode or QR Code as Security Measure.

Note: Details of unsold tickets, if any, shall be intimated by the Distributor before the draw time by means of electronic media or physically.

The revenues generated from the sale proceeds of the tickets shall be invested for the welfare of health care, education, publication, sanitation and other social sector services etc.

By order etc.

Sd/- LALTHANSANGA Secretary to the Govt. of Mizoram Finance Department

Memo No. 16016/9/2023-F.Est/9

Dated Aizawl, the 4th March, 2024

Copy to:

- 1. Secretary to Governor, Mizoram.
- 2. Secretary to Chief Minister, Mizoram
- 3. P.P.S. to Chief Secretary, Govt. of Mizoram
- 4. The Controller, Printing & Stationery with 6 (six) spare copies for publication in the Gazette of Mizoram.
- 5. Director, State Lottery, Govt. of Maharashtra, Mumbai
- 6. Director, Small Savings & Lottery, Govt. of Goa, Panaji
- 7. Director, State Lottery, Govt. of Sikkim, Gangtok
- 8. Director, State Lottery, Govt. of Punjab, Chandigarh
- 9. Director, IFSL, Mizoram
- 10. M/s Skill Lotto Solutions Pvt. Ltd., IF&SL Building, Tuikhuahtlang, Aizawl (Mizoram)

11. Guard File

T.C. LALKHUMA)

Deputy Secretary to the Govt. of Mizoram Finance department(E)

No.G.16016/9/2023-F.Est/10 GOVERNMENT OF MIZORAM FINANCE DEPARTMENT

Aizawl, the 4th March, 2024

NOTIFICATION

In exercise of powers conferred by sub-rule (1) of rule 4 of the Mizoram Lotteries (Regulation) Rules, 2019, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Mizoram hereby frames the following Weekly lottery scheme, in the interest of public service and for generation of additional revenues, through the Director, IF&SL:-

(a) The name of the lottery or lottery scheme

Rajshree Budh Weekly

(b) M.R.P. of each ticket

Rs.10/-

(c) Draw No.

: 1 and onwards

(d) Date of Draw

: 03.04.2024 & onwards : 01.00 PM onwards

(e) Draw Time

: 10,00,000 (ten lakh)

(f) Total number of tickets printed in case of

: Series: 10 - 19 / ABCDEGHJKL

paper lottery

Numbering: 0000 - 9999

(g) MRP value of the tickets printed

: Rs.1,00,00,000/- (one crore)

(h) Face Value of the tickets (MRP Less GST)

: Rs.78,12,500/- (Rupees seventy eight lakh

twelve thousand five hundred).

(i) Periodicity of Draw

: Weekly (Every Wednesday)

(i) Prize Structure

: As mentioned below:

RANK	NO. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1	1	500,000	5,00,000	On 1 time on 4 digits with series.
Cons.	99	500	49,500	On remaining series of 1st prize winning number.
2	100	9,000	9,00,000	On 1 time on 4 digits without series.
3	1000	1,000	10,00,000	On 10 times on 4 digits without series.
4	1000	400	4,00,000	On 10 times on 4 digits without series.
5	10000	150	15,00,000	On 100 times on 4 digits without series.
TOTAL	12200		43,49,500	

(k) The amount offered as prize money

: As mentioned above

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.

The prizes are drawn using a Mechanical Draw Machine as per the guidelines stipulated in the Lotteries (Regulation) Rules, 2010, The Mizoram Lotteries (Regulation) Rules, 2019 and amendments made thereunder.

(m)The place where the draw shall be conducted: Directorate of Institutional Finance & State Lotteries, Aizawl, Mizoram

(n) Name or names of the distributors or selling agents with their addresses and contact information

Sole Distributor:

M/s Skill Lotto Solutions Pvt. Ltd.

Tuikhuahtlang, Aizawl, Mizoram E-mail: contact@sugaldamani.com

M/s Serenity Trades Pvt. Ltd., Mumbai (Maharashtra, Goa, Sikkim

& Punjab)

(o) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes selected rank.

- (p) The Distributor and their Stockist / Sub-stockist / sellers, agents, retailers etc. are authorized to make payment of prizes up to the value of Rs.10,000/- to the prize winners and the Distributor, Sub-distributor, Area Distributors are authorized to reimburse the same on behalf of the Government of Mizoram.
- (q) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, the Lotteries (Regulation) Rules, 2010 and the Mizoram Lotteries (Regulation) Rules, 2019 and as amendments made thereunder.
- (r) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series and a Barcode or QR Code as Security Measure.

Note: Details of unsold tickets, if any, shall be intimated by the Distributor before the draw time by means of electronic media or physically.

The revenues generated from the sale proceeds of the tickets shall be invested for the welfare of health care, education, publication, sanitation and other social sector services etc.

By order etc.

Sd/- LALTHANSANGA Secretary to the Govt. of Mizoram Finance Department

Memo No. 16016/9/2023-F.Est/10 : Dated Aizawl, the 4th March, 2024 Copy to:

- 1. Secretary to Governor, Mizoram.
- 2. Secretary to Chief Minister, Mizoram
- 3. P.P.S. to Chief Secretary, Govt. of Mizoram
- 4. The Controller, Printing & Stationery with 6 (six) spare copies for publication in the Gazette of Mizoram.
- 5. Director, State Lottery, Govt. of Maharashtra, Mumbai
- 6. Director, Small Savings & Lottery, Govt. of Goa, Panaji
- 7. Director, State Lottery, Govt. of Sikkim, Gangtok
- 8. Director, State Lottery, Govt. of Punjab, Chandigarh
- 9. Director, IFSL, Mizoram
- 10. M/s Skill Lotto Solutions Pvt. Ltd., IF&SL Building, Tuikhuahtlang, Aizawl (Mizoram)
- 11. Guard File

Deputy Secretary to the Govt. of Mizoram Finance department(E)

No.G.16016/9/2023-F.Est/11 GOVERNMENT OF MIZORAM FINANCE DEPARTMENT

Aizawl, the 4th March, 2024

NOTIFICATION

In exercise of powers conferred by sub-rule (1) of rule 4 of the Mizoram Lotteries (Regulation) Rules, 2019, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Mizoram hereby frames the following Weekly lottery scheme, in the interest of public service and for generation of additional revenues, through the Director, IF&SL:-

(a) The name of the lottery or lottery scheme

Rajshree Guru Weekly

(b) M.R.P. of each ticket

Rs.10/-

(c) Draw No.

1 and onwards

(d) Date of Draw

04.04.2024 & onwards : 01.00 PM onwards

(e) Draw Time

(f) Total number of tickets printed in case of

: 10,00,000 (ten lakh)

paper lottery

: Series: 10 - 19 / ABCDEGHJKL

Numbering: 0000 - 9999

(g) MRP value of the tickets printed

: Rs.1,00,00,000/- (one crore) : Rs.78,12,500/- (Rupees seventy eight lakh

(h) Face Value of the tickets (MRP Less GST)

twelve thousand five hundred).

: Weekly (Every Thursday)

(i) Periodicity of Draw

(i) Prize Structure

: As mentioned below:

RANK	NO. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1	1	500,000	5,00,000	On 1 time on 4 digits with series.
Cons.	99	500	49,500	On remaining series of 1st prize winning number.
2	100	9,000	9,00,000	On 1 time on 4 digits without series.
3	1000	1,000	10,00,000	On 10 times on 4 digits without series.
4	1000	400	4,00,000	On 10 times on 4 digits without series.
5	10000	150	15,00,000	On 100 times on 4 digits without series.
TOTAL	12200		43,49,500	V

(k) The amount offered as prize money

: As mentioned above

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.

The prizes are drawn using a Mechanical Draw Machine as per the guidelines stipulated in the Lotteries (Regulation) Rules, 2010, The Mizoram Lotteries (Regulation) Rules, 2019 and amendments made thereunder.

(m) The place where the draw shall be conducted: Directorate of Institutional Finance & State Lotteries, Aizawl, Mizoram

(n) Name or names of the distributors or selling agents with their addresses and contact information

Sole Distributor:

M/s Skill Lotto Solutions Pvt. Ltd. Tuikhuahtlang, Aizawl, Mizoram E-mail: contact@sugaldamani.com

M/s Serenity Trades Pvt. Ltd., Mumbai (Maharashtra, Goa, Sikkim & Punjab)

- (o) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes selected rank.
- (p) The Distributor and their Stockist / Sub-stockist / sellers, agents, retailers etc. are authorized to make payment of prizes up to the value of Rs.10,000/- to the prize winners and the Distributor, Sub-distributor, Area Distributors are authorized to reimburse the same on behalf of the Government of Mizoram.

(q) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, the Lotteries (Regulation) Rules, 2010 and the Mizoram Lotteries (Regulation) Rules, 2019 and as amendments made thereunder.

(r) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series and a Barcode or QR Code as Security Measure.

Note: Details of unsold tickets, if any, shall be intimated by the Distributor before the draw time by means of electronic media or physically.

The revenues generated from the sale proceeds of the tickets shall be invested for the welfare of health care, education, publication, sanitation and other social sector services etc.

By order etc.

Sd/- LALTHANSANGA Secretary to the Govt. of Mizoram Finance Department

Dated Aizawl, the 4th March, 2024 Memo No. 16016/9/2023-F.Est/11 :

- Copy to: Secretary to Governor, Mizoram.
 - 2. Secretary to Chief Minister, Mizoram
 - 3. P.P.S. to Chief Secretary, Govt. of Mizoram
 - 4. The Controller, Printing & Stationery with 6 (six) spare copies for publication in the Gazette of Mizoram.
 - 5. Director, State Lottery, Govt. of Maharashtra, Mumbai
 - 6. Director, Small Savings & Lottery, Govt. of Goa, Panaji
 - 7. Director, State Lottery, Govt. of Sikkim, Gangtok
 - 8. Director, State Lottery, Govt. of Punjab, Chandigarh
 - 9. Director, IFSL, Mizoram
 - 10. M/s Skill Lotto Solutions Pvt. Ltd., IF&SL Building, Tuikhuahtlang, Aizawl (Mizoram)
 - 11. Guard File

(T.C. LALKHUMA)

Deputy Secretary to the Govt. of Mizoram Finance department(E)

No.G.16016/9/2023-F.Est/12 **GOVERNMENT OF MIZORAM** FINANCE DEPARTMENT

Aizawl, the 4th March, 2024

NOTIFICATION

In exercise of powers conferred by sub-rule (1) of rule 4 of the Mizoram Lotteries (Regulation) Rules, 2019, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Mizoram hereby frames the following Weekly lottery scheme, in the interest of public service and for generation of additional revenues, through the Director, IF&SL:-

(a) The name of the lottery or lottery scheme

Rajshree Shukra Weekly

(b) M.R.P. of each ticket

Rs.10/-

(c) Draw No.

1 and onwards

(d) Date of Draw

: 05.04.2024 & onwards : 01.00 PM onwards

(e) Draw Time

(f) Total number of tickets printed in case of

: 10,00,000 (ten lakh)

paper lottery

: Series: 10 - 19 / ABCDEGHJKL

Numbering: 0000 - 9999

(g) MRP value of the tickets printed

: Rs.1,00,00,000/- (one crore)

(h) Face Value of the tickets (MRP Less GST)

: Rs.78,12,500/- (Rupees seventy eight lakh

twelve thousand five hundred).

(i) Periodicity of Draw

: Weekly (Every Friday)

(i) Prize Structure

: As mentioned below:

RANK	NO. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	. DRAW METHOD
1	1	500,000	5,00,000	On 1 time on 4 digits with series.
Cons.	99	500	49,500	On remaining series of 1st prize winning number.
2	100	9,000	9,00,000	On 1 time on 4 digits without series.
3	1000	1,000	10,00,000	On 10 times on 4 digits without series.
4	1000	400	4,00,000	On 10 times on 4 digits without series.
5	10000	150	15,00,000	On 100 times on 4 digits without series.
TOTAL	12200		43,49,500	

(k) The amount offered as prize money

: As mentioned above

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.

The prizes are drawn using a Mechanical Draw Machine as per the guidelines stipulated in the Lotteries (Regulation) Rules, 2010, The Mizoram Lotteries (Regulation) Rules, 2019 and amendments made thereunder.

(m) The place where the draw shall be conducted: Directorate of Institutional Finance & State Lotteries, Aizawl, Mizoram

(n) Name or names of the distributors or selling agents with their addresses and contact information

Sole Distributor:

M/s Skill Lotto Solutions Pvt. Ltd.

Tuikhuahtlang, Aizawl, Mizoram E-mail: contact@sugaldamani.com

M/s Serenity Trades Pvt. Ltd., Mumbai (Maharashtra, Goa, Sikkim & Punjab)

- (o) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes selected rank.
- (p) The Distributor and their Stockist / Sub-stockist / sellers, agents, retailers etc. are authorized to make payment of prizes up to the value of Rs.10,000/- to the prize winners and the Distributor, Sub-distributor, Area Distributors are authorized to reimburse the same on behalf of the Government of Mizoram.

(q) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, the Lotteries (Regulation) Rules, 2010 and the Mizoram Lotteries (Regulation) Rules, 2019 and as amendments made thereunder.

(r) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series and a Barcode or QR Code as Security Measure.

Note: Details of unsold tickets, if any, shall be intimated by the Distributor before the draw time by means of electronic media or physically.

The revenues generated from the sale proceeds of the tickets shall be invested for the welfare of health care, education, publication, sanitation and other social sector services etc.

By order etc.

Sd/- LALTHANSANGA Secretary to the Govt. of Mizoram Finance Department

Memo No. 16016/9/2023-F.Est/12 : Dated Aizawl, the 4th March, 2024 Copy to:

- 1. Secretary to Governor, Mizoram.
- 2. Secretary to Chief Minister, Mizoram
- 3. P.P.S. to Chief Secretary, Govt. of Mizoram
- 4. The Controller, Printing & Stationery with 6 (six) spare copies for publication in the Gazette of Mizoram.
- 5. Director, State Lottery, Govt. of Maharashtra, Mumbai
- 6. Director, Small Savings & Lottery, Govt. of Goa, Panaji
- 7. Director, State Lottery, Govt. of Sikkim, Gangtok
- 8. Director, State Lottery, Govt. of Punjab, Chandigarh
- 9. Director, IFSL, Mizoram
- 10. M/s Skill Lotto Solutions Pvt. Ltd., IF&SL Building, Tuikhuahtlang, Aizawl (Mizoram)

11. Guard File

T.C. LALKHUMA)

Deputy Secretary to the Govt. of Mizoram Finance department (E)

No.G.16016/9/2023-F.Est/13 GOVERNMENT OF MIZORAM FINANCE DEPARTMENT

Aizawl, the 4th March, 2024

NOTIFICATION

In exercise of powers conferred by sub-rule (1) of rule 4 of the Mizoram Lotteries (Regulation) Rules, 2019, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Mizoram hereby frames the following Weekly lottery scheme, in the interest of public service and for generation of additional revenues, through the Director, IF&SL:-

(a) The name of the lottery or lottery scheme

Rajshree Shani Weekly

(b) M.R.P. of each ticket

Rs.10/-

(c) Draw No.

: 1 and onwards

(d) Date of Draw

06.04.2024 & onwards

(e) Draw Time

: 01.00 PM onwards

(f) Total number of tickets printed in case of

: 10,00,000 (ten lakh)

: Series: 10 - 19 / ABCDEGHJKL

paper lottery

Numbering: 0000 - 9999

(g) MRP value of the tickets printed

: Rs.1,00,00,000/- (one crore)

(h) Face Value of the tickets (MRP Less GST)

: Rs.78,12,500/- (Rupees seventy eight lakh

twelve thousand five hundred).

(i) Periodicity of Draw

: Weekly (Every Saturday)

(i) Prize Structure

: As mentioned below:

RANK	NO. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1	1	500,000	5,00,000	On 1 time on 4 digits with series.
Cons.	99	500	49,500	On remaining series of 1st prize winning number.
2	100	9,000	9,00,000	On 1 time on 4 digits without series.
3	1000	1,000	10,00,000	On 10 times on 4 digits without series.
4	1000	400	4,00,000	On 10 times on 4 digits without series.
5	10000	150	15,00,000	On 100 times on 4 digits without series.
TOTAL	12200		43,49,500	

(k) The amount offered as prize money

: As mentioned above

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.

The prizes are drawn using a Mechanical Draw Machine as per the guidelines stipulated in the Lotteries (Regulation) Rules, 2010, The Mizoram Lotteries (Regulation) Rules, 2019 and amendments made thereunder.

(m) The place where the draw shall be conducted: Directorate of Institutional Finance & State Lotteries, Aizawl, Mizoram

(n) Name or names of the distributors or selling agents with their addresses and contact information

Sole Distributor:

M/s Skill Lotto Solutions Pvt. Ltd. Tuikhuahtlang, Aizawl, Mizoram

E-mail: contact@sugaldamani.com

M/s Serenity Trades Pvt. Ltd., Mumbai (Maharashtra, Goa, Sikkim

& Punjab)

(o) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes selected rank.

- (p) The Distributor and their Stockist / Sub-stockist / sellers, agents, retailers etc. are authorized to make payment of prizes up to the value of Rs.10,000/- to the prize winners and the Distributor, Sub-distributor, Area Distributors are authorized to reimburse the same on behalf of the Government of Mizoram.
- (q) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, the Lotteries (Regulation) Rules, 2010 and the Mizoram Lotteries (Regulation) Rules, 2019 and as amendments made thereunder.
- (r) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series and a Barcode or QR Code as Security Measure.

Note: Details of unsold tickets, if any, shall be intimated by the Distributor before the draw time by means of electronic media or physically.

The revenues generated from the sale proceeds of the tickets shall be invested for the welfare of health care, education, publication, sanitation and other social sector services etc.

By order etc.

Sd/- LALTHANSANGA Secretary to the Govt. of Mizoram Finance Department

Memo No. 16016/9/2023-F.Est/13 : Dated Aizawl, the 4th March, 2024

Copy to:

- 1. Secretary to Governor, Mizoram.
- 2. Secretary to Chief Minister, Mizoram
- 3. P.P.S. to Chief Secretary, Govt. of Mizoram
- 4. The Controller, Printing & Stationery with 6 (six) spare copies for publication in the Gazette of Mizoram.
- 5. Director, State Lottery, Govt. of Maharashtra, Mumbai
- 6. Director, Small Savings & Lottery, Govt. of Goa, Panaji
- 7. Director, State Lottery, Govt. of Sikkim, Gangtok
- 8. Director, State Lottery, Govt. of Punjab, Chandigarh
- 9. Director, IFSL, Mizoram
- 10. M/s Skill Lotto Solutions Pvt. Ltd., IF&SL Building, Tuikhuahtlang, Aizawl (Mizoram)
- 11. Guard File

(T.C. LALKHUMA)

Deputy Secretary to the Govt. of Mizoram Finance department(E)

No.G.16016/9/2023-F.Est/14 GOVERNMENT OF MIZORAM FINANCE DEPARTMENT

Aizawl, the 4th March, 2024

NOTIFICATION

In exercise of powers conferred by sub-rule (1) of rule 4 of the Mizoram Lotteries (Regulation) Rules, 2019, read with rule 3 of the Lotteries (Regulation) Rules, 2010, the Government of Mizoram hereby frames the following Weekly lottery scheme, in the interest of public service and for generation of additional revenues, through the Director, IF&SL:-

(a) The name of the lottery or lottery scheme

: Rajshree Ravi Weekly

(b) M.R.P. of each ticket

Rs.10/-

(c) Draw No.

1 and onwards

(d) Date of Draw

: 07.04.2024 & onwards

(e) Draw Time

: 01.00 PM onwards

(f) Total number of tickets printed in case of

: 10,00,000 (ten lakh)

paper lottery

: Series: 10 - 19 / ABCDEGHJKL Numbering: 0000 - 9999

(g) MRP value of the tickets printed

: Rs.1,00,00,000/- (one crore)

(h) Face Value of the tickets (MRP Less GST)

: Rs.78,12,500/- (Rupees seventy eight lakh

twelve thousand five hundred).

(i) Periodicity of Draw

: Weekly (Every Sunday)

(i) Prize Structure

: As mentioned below:

RANK	NO. OF PRIZES	PRIZE AMOUNT	TOTAL PRIZE AMOUNT	DRAW METHOD
1	1	500,000	5,00,000	On 1 time on 4 digits with series.
Cons.	99	500	49,500	On remaining series of 1st prize winning number.
2	100	9,000	9,00,000	On 1 time on 4 digits without series.
3	1000	1,000	10,00,000	On 10 times on 4 digits without series.
4	1000	400	4,00,000	On 10 times on 4 digits without series.
5	10000	150	15,00,000	On 100 times on 4 digits without series.
TOTAL	12200		43,49,500	

(k) The amount offered as prize money

: As mentioned above

(l) The procedure for drawing the prize winning tickets or prize winners: As mentioned above.

The prizes are drawn using a Mechanical Draw Machine as per the guidelines stipulated in the Lotteries (Regulation) Rules, 2010, The Mizoram Lotteries (Regulation) Rules, 2019 and amendments made thereunder.

(m) The place where the draw shall be conducted: Directorate of Institutional Finance & State Lotteries, Aizawl, Mizoram

(n) Name or names of the distributors or selling agents with their addresses and contact information

Sole Distributor:

M/s Skill Lotto Solutions Pvt. Ltd. Tuikhuahtlang, Aizawl, Mizoram E-mail: contact@sugaldamani.com Area distributor: M/s Serenity Trades Pvt. Ltd., Mumbai (Maharashtra, Goa, Sikkim

& Punjab)

(o) One ticket can win prizes of one rank only whichever is highest in terms of prize money. Holder of said ticket shall be entitled for all the prizes selected rank.

(p) The Distributor and their Stockist / Sub-stockist / sellers, agents, retailers etc. are authorized to make payment of prizes up to the value of Rs.10,000/- to the prize winners and the Distributor, Sub-distributor, Area Distributors are authorized to reimburse the same on behalf of the Government of Mizoram.

(q) Lotteries are conducted strictly in compliance with the Lotteries (Regulation) Act, 1998, the Lotteries (Regulation) Rules, 2010 and the Mizoram Lotteries (Regulation) Rules,

2019 and as amendments made thereunder.

(r) All the tickets printed, shall have Logo and Imprint of the State with specimen signature, Date of Draw, time of Draw, Lottery Number with Series and a Barcode or QR Code as Security Measure.

Note: Details of unsold tickets, if any, shall be intimated by the Distributor before the draw time by means of electronic media or physically.

The revenues generated from the sale proceeds of the tickets shall be invested for the welfare of health care, education, publication, sanitation and other social sector services etc.

By order etc.

Sd/- LALTHANSANGA Secretary to the Govt. of Mizoram Finance Department

Memo No. 16016/9/2023-F.Est/14 : Dated Aizawl, the 4th March, 2024 Copy to:

Secretary to Governor, Mizoram.

2. Secretary to Chief Minister, Mizoram

3. P.P.S. to Chief Secretary, Govt. of Mizoram

- 4. The Controller, Printing & Stationery with 6 (six) spare copies for publication in the Gazette of Mizoram.
- 5. Director, State Lottery, Govt. of Maharashtra, Mumbai
- 6. Director, Small Savings & Lottery, Govt. of Goa, Panaji
- 7. Director, State Lottery, Govt. of Sikkim, Gangtok
- 8. Director, State Lottery, Govt. of Punjab, Chandigarh

9. Director, IFSL, Mizoram

10. M/s Skill Lotto Solutions Pvt. Ltd., IF&SL Building, Tuikhuahtlang, Aizawl (Mizoram)

11. Guard File

Deputy Secretary to the Govt. of Mizoram Finance department (E)